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filt 5 [F] 02 -1 Tt 5L IA] 6.060 |0.605556 | 3.670 9.73
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Tt [E] 19 -2 ik 5 [ 6.500 [0.605556 | 3.940 10. 44
fift 5 7] 20 -12 ik 5 [ 10. 700 [0.605556 | 6.480 17.18
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2-101 12 fF= 101.960 |0.185932 | 18.960 120. 92
2-102 12 fFz 101.960 [0.185932 | 18.960 120. 92
3-101 12 = 101.960 |0.185932 | 18.960 120. 92
3-102 12 (et 101.960 |0.185932 | 18.960 120. 92
4-101 1E = 100. 730 |0.185932 | 18.730 119. 46
4-102 1E FE 81.770 [0.185932 | 15.200 96. 97
5-101 12 et 81.770 |0.185932 | 15.200 96. 97
5-102 12 fF= 89.790 |0.185932 | 16.690 106. 48
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